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======CrossOver_Distortion ====

One common job in designing a power amplifier
it choosing a level of AB bias for the output
transistors.
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The output transistors tend to be very large.
The goal is to keep them on all the time
while not wasting supply current.
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The above simulation is a really a "B" biased
output stage. Both output transistors are never



on at the same time. Hence there is a period to
time where both transistors are off and the
power amplifier goes open loop at this time.
The result usually shows up as glich in the
output waveform.
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